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A 2.0-kg block slides 2.0 m down a frictionless incline from point A to point B. A force of
magnitude F =3.0 N acts on the block between A and B, as shown in the figure.

(a) Calculate the change in gravitational potential energy of the block-earth system as the
block moves from A to B.
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(b) Calculate the work done by the applied force F as the block moves from A to B.
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(c) If the kinetic energy of the block at A is 10 ], what is its kinetic energy at B?
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A 0.50 kg block attached to a spring with a spring constant of 100 N/m moves on a horizontal surface

having a coefficient of kinetic friction = 0.3. The spring is initially compressed by 10 em from the

unstretched position and then released from rest. What is the speed of the block when it passes through

the point O?
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A 5.0-kg object is pulled along a rough horizontal surface at constant speed by a 15 N force acting 30°

above the horizontal as seen in the figure.

(a) How much work is done by the applied force as the object moves 6.0 m?
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(a) What is the change in gravitational otential energy of the block-floor system?
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(b) What is the change in kinetic energy of the block?
NK - o V = Condant

(¢) How much work is done by the friction force as the object moves 6.0 m?
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